

A Service of

ZBU

Leibniz-Informationszentrum Wirtschaft Leibniz Information Centre for Economics

Ali, Sameer; George, Abraham

Article Redressing urban isolation: A multi-city case study in India

Journal of Urban Management

Provided in Cooperation with: Chinese Association of Urban Management (CAUM), Taipei

Suggested Citation: Ali, Sameer; George, Abraham (2022) : Redressing urban isolation: A multi-city case study in India, Journal of Urban Management, ISSN 2226-5856, Elsevier, Amsterdam, Vol. 11, Iss. 3, pp. 338-352, https://doi.org/10.1016/j.jum.2022.04.006

This Version is available at: https://hdl.handle.net/10419/271471

Standard-Nutzungsbedingungen:

Die Dokumente auf EconStor dürfen zu eigenen wissenschaftlichen Zwecken und zum Privatgebrauch gespeichert und kopiert werden.

Sie dürfen die Dokumente nicht für öffentliche oder kommerzielle Zwecke vervielfältigen, öffentlich ausstellen, öffentlich zugänglich machen, vertreiben oder anderweitig nutzen.

Sofern die Verfasser die Dokumente unter Open-Content-Lizenzen (insbesondere CC-Lizenzen) zur Verfügung gestellt haben sollten, gelten abweichend von diesen Nutzungsbedingungen die in der dort genannten Lizenz gewährten Nutzungsrechte.



WWW.ECONSTOR.EU

https://creativecommons.org/licenses/by/4.0/

Terms of use:

Documents in EconStor may be saved and copied for your personal and scholarly purposes.

You are not to copy documents for public or commercial purposes, to exhibit the documents publicly, to make them publicly available on the internet, or to distribute or otherwise use the documents in public.

If the documents have been made available under an Open Content Licence (especially Creative Commons Licences), you may exercise further usage rights as specified in the indicated licence.



Contents lists available at ScienceDirect

Journal of Urban Management

journal homepage: www.elsevier.com/locate/jum

Research Article Redressing urban isolation: A multi-city case study in India

Sameer Ali^{*}, Abraham George

Dept. of Architecture and Planning, IIT Kharagpur, West Bengal, 721302, India

ARTICLE INFO

Keywords: Social isolation Urban isolation Urban health Social impacts Community involvement

ABSTRACT

Urbanization has brought in expeditious changing world trends from dispersed rural settlements to denser urban centers. Higher frequent economic activities have attracted a large in-flow of job seekers, migrant laborers, and foreign investors to urban centers, furthering the complexity. Contrary to beliefs, urban demography has not brought people together; instead, it has created a new concern, Urban Isolation. The paper tries to explain issues related to urban isolation from examples of cities experiencing it. Results from a survey to determine factors leading to urban isolation for three major cities in India, namely, Mumbai, Kolkata, and Kochi, are also presented. The study includes sensitivity analysis using ANOVA for gender, age group, and household sizes. Factor analysis resulted in two prominent factors, "Sociability" and "Acceptability." The paper provides probable solutions to counter the adverse effects of Urban Isolation. The findings from this study may be highly demographic-centric, catering to the Indian scenario.

1. Introduction

The current world urban population stands at 55% and shall rise to 69% by 2050 (UNFPA, 2007). In 2007, the urban population overtook the rural population (The World Bank, 2020). Urbanization has been confined mainly to the past 200 years (The World Bank, 2020). Most of the world's population lived in rural settlements until the 1800s (90% of population), where the trend took a turn. People started to migrate to cities, mainly after industrialization began as it offered higher-paid, skilled jobs that generated a wealthy middle class (Langeweg et al., 2000). Cities provided more and better job opportunities, higher living standards, easier availability of services, and improved transport systems (Chen et al., 2014; Turok & McGranahan, 2013). These changes showcased urbanization as signs of progress in the modern era (Chang & Brada, 2006). However, new and improved services have also led to the creation of unprecedented consequences. One of them is isolating one from another. A sense of anonymity and togetherness is lost in the alleys of urban housing and the speeding highways.

Urban isolation is nothing new, but an evolved form, whose roots can be traced from "*industrialization*" Marx (2000), "*mass society*" Bain et al. (1951), and the "*decline of community*" Stein (2015), all bludgeoned by the 'urban city.' Urban isolation has been defined by Fischer (1972) as "*the individual's low expectancy for inclusion and social acceptance, expressed typically in feelings of loneliness or feelings of rejection or repudiation*." (Fischer, 1973). Alienation and anonymity in a city lead to *powerlessness*, increased *crime rates*, and *social isolation* (Fischer, 1972). However, a city's environmental considerations are only suitable for harnessing a protective nature, which renders social bonds nugatory. Nearly half a century later, it invokes curiosity in one whether cities have evolved for the good or bad through their course, whether cities have taken a toll on humanity's existence or have developed them for the better.

Urban isolation is multi-dimensional. It is an imbalanced/inadequate quantity or/and quality of mutual interactions amongst people

* Corresponding author. *E-mail addresses:* sameer_aaa@live.com (S. Ali), abrahamiitkgp@gmail.com (A. George).

https://doi.org/10.1016/j.jum.2022.04.006

Received 18 November 2020; Received in revised form 4 January 2022; Accepted 19 April 2022

Available online 29 April 2022







^{2226-5856/© 2022} The Authors. Published by Elsevier B.V. on behalf of Zhejiang University and Chinese Association of Urban Management. This is an open access article under the CC BY license (http://creativecommons.org/licenses/by/4.0/).

that can happen at an individual, group, or community scale (Smith & Lim, 2020; Umberson & Karas Montez, 2010; Zavaleta et al., 2017). It is subjective among people, and experiences can differ for different individuals. A person may feel socially isolated even with people around him. The vice-versa is also possible, i.e., not feeling isolated even if alone (Hughes et al., 2004). For such cases, the quality of social interactions, whether online or offline, plays a significant role in determining urban isolation in the 21st century.

Social isolation has existed long before forced isolation during an epidemic/pandemic or any similar event. Its effects have come into prominence now with the spread of the COVID-19 pandemic. Isolation includes a person staying in a confined space with little interaction beyond the determined limits. A deficit of social support from being isolated may lead to stress, depression, and poor compliance (Boden-Albala et al., 2005; Brooks et al., 2020). Social isolation is also an augur of consequence events post-stroke (Boden-Albala et al., 2005).

The urban form has directly impacted polarizing societies, leading to the isolation of communities primarily on socioeconomic factors (Antoniucci & Marella, 2018). As cities attract a large number of people from rural settlements, it leads to higher densities. With higher living costs in urban areas, people either started migrating towards the outskirts or ended up living in slums or ghettos (Antoniucci & Marella, 2018; Garewa, 2006; S. Wang, Kwan, & Hu, 2020). This has created polarized societies with its effects visible in housing patterns, infrastructure, and even restricted access to transportation networks leading to constrained access to resources and opportunities (Antoniucci & Marella, 2018; Benediktsson, 2018; S. Wang, Kwan, & Hu, 2020). The rise of gated communities is another symbol of economic inequality present in several cities across the globe (Grundström, 2018; Roitman & Recio, 2020). These have led to the restricted use of public spaces creating spatial inequality and reduced interaction between different communities (Benediktsson, 2018).

Jaspers and Pieters (2016) conducted a study spanning nine years with over 4200 individuals on 'Materialism across life span' shows patterns as to why individuals flock to cities for economic gains. Individuals' tendencies have shifted from happiness to a sense of achievement as a significant reason for materialism. Indexing happiness factors across age groups and materialism resulted in materialism hardly impacting an individual's satisfaction. "The idea of materialism may be conceived of as a cluster of beliefs and values" (Dittmar et al., 2014).

Every city has its unique characteristics. Urban experiences may vary depending on the cities' housing patterns, infrastructure availability, civic participation opportunities, economic statuses, and other factors (van Hoof et al., 2018). Thus, the results from this study cannot be generalized. Policymakers will have to study a city in specific to address its issues. Results from this particular multi-city case study itself prove it, which will be explored in detail in the forthcoming sections.

2. Urban isolation causes

A study by Harvard University in 2015 on neighborhood isolation of the 50 largest American cities came out with the following findings related to urban isolation (Q. Wang et al., 2018).

- Less exposure of minority class with non-minority or white neighborhoods
- · Less exposure of minority class with mainstream areas, hence lesser involvement with others
- · Not income but race mattered in settlement patterns and travel behavior

Interaction across race and class groups contributes to promoting societal interaction. Constrained mobility and increased time consumption for work commutes also seemed to be restricting people from engaging in social activities (Frantál et al., 2020).

The impacts of isolation affect the elderly the most (Cornwell & Waite, 2009). Serious health risks, living alone, and having a small social network are significant factors. Cornwell and Waite (2009) analyzed the relationship perceived isolation has on physical and mental health among the elderly and found it positively correlated.

Developed and developing countries have been experiencing a rise in their aging population (Guida & Carpentieri, 2021; van Hoof et al., 2018). The proportion of those aged 65 and above is proliferating and is expected to accelerate in the coming decades (Organisation, 2020). Though this is a sign of an improved healthcare system and facilities, it also brings challenges (Plouffe & Kalache, 2010). Are today's cities age-friendly? Is development inclusive of all the sections of the society? Are cities able to provide full access to services and spaces for everyone? When cities fail to provide the said facilities, the aged section is often the first affected (van Hoof et al., 2018). Though cities have been developing with improved facilities and infrastructure over time, little evidence exists that older people benefit from them (Clarfield, 2018). Papa et al. (2018) state that the lack of access to public spaces affects their well-being, directly and indirectly, rendering them indoors.

Most existing research on social isolation in urban areas has focused on the effects on the elderly population (Nyqvist et al., 2016). The reason may be that they may be physically weaker and have limited mobility compared to other age groups (Umberson & Karas Montez, 2010). However, when today's elderly get pushed into isolation due to restricted access to social spaces or deteriorating health conditions, the younger generation isolates themselves through less human interaction and higher social media usage (Brooks et al., 2020; Primack et al., 2019). Excessive social media usage has adversely affected today's youth (Primack et al., 2019). A study conducted among students of the age group 18–30 in Pittsburgh found that social media's heavy usage led to *isolation* or *disconnectedness*, leading to adverse health outcomes and increased mortality, including depression (Primack et al., 2019). Studies also suggest that long hours of online usage are higher in developed countries; this can be due to better availability and accessibility of technology (Perrin & Kumar, 2020). Spending more time online than offline has led to decreased social interactions (Brooks et al., 2020; Perrin & Kumar, 2020).

Another nationwide survey conducted by 'BBC Radio 4' in collaboration with 'Wellcome Collection' in London found that youngsters of the age group 16-24 years reported the highest social isolation feelings (Hammond, 2021). The survey consisted of 55000

respondents. It is the largest survey conducted to date on matters regarding social isolation and loneliness. 40% of respondents aged 16–24 responded feeling isolated often or very often compared to only 27% in the 75+ age group. People who feel more isolated 'often' also have more social media friends than real-life friends (Child & Lawton, 2019; Smith & Lim, 2020). The study suggests we need to find better ways to prevent social isolation from being immedicable.

With changing lifestyles and trends in the 21st century, more and more people prefer to live in smaller groups or alone. People now choose not to get married, leading to rising nuclear families causing the issue of needing physical and mental support during times of distress like illnesses, work pressure, depression, and even old-age constraints (Jamieson & Simpson, 2013; Ronald et al., 2018). The absence of fellow support due to social isolation has led to the rise in poor physical and mental health (Harasemiw et al., 2019; Usher et al., 2020).

With more and more people moving to urbanized areas for various reasons, and with the rise of the COVID-19 pandemic, the need to address social isolation needs to be probed into if it exists in a given city. Several pieces of research have shown that increased social isolation is directly related to high levels of depression, low self-esteem, decreased life satisfaction, and increased self-protective thinking, leading to harmful or hateful interaction with others (Cacioppo & Cacioppo, 2014; Harasemiw et al., 2019; Usher et al., 2020). Increased social isolation is associated with decreasing physical health (Brooks et al., 2020; Steptoe et al., 2013). These include various illnesses such as cognitive disorders, cardiovascular issues, neuroendocrine, and inflammatory disorders (Bhatti & Haq, 2017; Brooks et al., 2020; Steptoe et al., 2013; Xia & Li, 2018).

3. Methodology

Based on the literature survey discussed in this paper, a survey has been conducted for three different metro cities in India to analyze if city residents face urban isolation, namely, Mumbai (19.0760° N, 72.8777° E), Kolkata (22.5726° N, 88.3639° E), and Kochi (9.9312° N, 76.2673° E) (Fig. 1). All three cities are coastal and have a tropical climate.



Fig. 1. Study area locations.

S. Ali, A. George

The survey was conducted online from October to November 2020 during the COVID-19 pandemic through various social media platforms such as WhatsApp, Twitter, Facebook, and LinkedIn. Participants attended 21 close-ended questions and one open-ended question to express their viewpoints and experiences freely. The questionnaire had three parts. The first part measured the level of urban isolation experienced through multiple point-based questions based on the 'Revised UCLA Loneliness Scale' (Russell et al., 1980). The second is to select their reasons. The third is an optional comment if they want to share their experiences and possible solutions they believe are required. Literature studies helped shortlist the probable dependent variables, which formed the basis of the survey questions. The factors that are analyzed include:

- Trust issues
- Migrant unacceptance
- Level of social interaction
- Travel patterns
- Nuclear families
- Influence of social media

The study considers gender, different age groups, and household sizes and analyses their behavioral patterns.

3.1. Sampling

The selected three cities have a population count as follows.

- Mumbai 18.4 million
- Kolkata 14.1 million
- Kochi 0.67 million (Commissioner, 2014)

The survey follows a confidence level of 95% with a 5% margin of error for all three cities. The formula used for calculating the sample size is as follows:

Sample size =
$$\frac{z^2 p(1-p)/e^2}{1 + \left(\frac{z^2 p(1-p)}{e^2 N}\right)}$$

'N' is the population size, 'e' is the margin of error, and 'z' is the z-score corresponding to the desired confidence level. For a substantial population, the survey count does not vary significantly, and hence the minimum required sample size for each city calculates at 385 valid responses per city. In a total of '1318' responses, '1260' were considered valid responses. The study assessed 420 responses from each city, and the survey was closed once this target count had reached.

To achieve authenticity and higher participation rates, the survey was also distributed in local languages, Hindi, Malayalam, and English. The survey followed a reward-based system wherein three random participants would be rewarded Amazon gift vouchers. The survey was open to all city residents regardless of age or gender, with the only condition of having at least a year's stay in the city. ANOVA was used to identify significance in differences in age, household size, and gender. Factor analysis helped identify the significant factors of urban isolation.

4. Results

4.1. Level of urban isolation experienced

Respondents were enthusiastic and supported the study by submitting long texts and audio clips on urban isolation experiences. The survey included questions asking respondents if they had ever experienced urban isolation through a multi-question format that included questions from the 'Revised UCLA Loneliness Scale' (Russell et al., 1980). The resulting answers were then converted into a 5-point measurement Scale (Never, Seldom, Sometimes, Frequently, and Always).

Respondents in Mumbai showed more significant levels of experiencing urban isolation, with 76 responses (18%) corresponding to 'Always' and 155 responses (37%) corresponding to 'Frequently. The levels were moderate in Kolkata, with 53 responses (12%) corresponding to Always' and 107 responses (25%) corresponding to 'Frequently.' In Kochi, however, responses to high levels of urban isolation experienced were much lower, with 13 answers (3%) corresponding to 'Always' and 55 answers (13%) corresponding to 'Frequently' (Fig. 2).

Using ANOVA (Table 1), gender-related differences were found to be insignificant for Mumbai and Kolkata. However, there are significant differences for the city of Kochi, with more females responding to 'Always' and 'Frequently' levels of Urban Isolation



Fig. 2. Frequency of Level of Urban Isolation experienced between respondents from Mumbai, Kolkata, and Kochi.

Table 1 Level of Urban Isolation - Gender-related differences (ANOVA).

Sum of Squares (S.S.)	Degrees of Freedom (df)	Mean Square (M.S.)	F-value	Significance
7.1328	1	7.1328	6.93724	0.008755
429.7815	418	1.0282		
436.9143	419	_		
	Sum of Squares (S.S.) 7.1328 429.7815 436.9143	Sum of Squares (S.S.) Degrees of Freedom (df) 7.1328 1 429.7815 418 436.9143 419	Sum of Squares (S.S.) Degrees of Freedom (df) Mean Square (M.S.) 7.1328 1 7.1328 429.7815 418 1.0282 436.9143 419 –	Sum of Squares (S.S.) Degrees of Freedom (df) Mean Square (M.S.) F-value 7.1328 1 7.1328 6.93724 429.7815 418 1.0282 436.9143 419 –

experienced as compared to males. The statistical mean value of Females is '2.63' compared to '2.37' of Males for Kochi (Closer to 1 means 'Never' and closer to 5 means 'Always' for "level of urban isolation experienced"), meaning females in Kochi experience higher levels of urban isolation.

From Table 2, age-related differences showed no significant differences in Mumbai and Kolkata; however, Kolkata showed significant differences where people of the age groups' 36–45' experienced more significant depression with a mean value of '3.323' closely followed by the age group '26–35' with a mean value of '3.222'. The age group '16–25' saw the least mean value of '2.67'.

From Table 3, all three cities showed significant differences under household size-related differences. For Mumbai, people who lived alone reported the highest levels of depression with a mean value of '3.7'; the least was in the household size of '7+' with a mean value of '2.9'. In Kolkata, individuals who lived alone reported the highest mean value of '3.4'; and the least mean value of '1.6' for household

Table 2

Level of Urban Isolation - Age-related differences (ANOVA).

Level of Isolation	Sum of Squares (S.S.)	Degrees of Freedom (df)	Mean Square (M.S.)	F-value	Significance
Kolkata					
Between groups	17.4219	4	4.3555	4.01456	0.00331
Within groups	450.2424	415	1.0849		
Total	467.6643	419	-		

Table 3

Level of Urban Isolation – Household size-related differences (ANOVA).

Level of Isolation	Sum of Squares (S.S.)	Degrees of Freedom (df)	Mean Square (M.S.)	F-value	Significance
Mumbai					
Between groups	19.4828	4	4.8707	4.41994	0.001649 (Significant)
Within groups	457.3243	415	1.102		
Total	476.8071	419	_		
Kolkata					
Between groups	43.0079	4	10.752	10.50748	0.00001 (Significant)
Within groups	424.6564	415	1.0233		
Total	467.6643	419	_		
Kochi					
Between groups	19.8283	4	4.9571	4.93227	0.00068 (Significant)
Within groups	417.086	415	1.005		_
Total	436.9143	419	_		

sizes of '7+'. The same trend followed in Kochi with the highest mean value of '3.8' for those who lived alone than '2.2' for those whose household size was '7+'.

4.2. Causes of Urban Isolation

The second part of the questionnaire asked respondents what they believe are reasons for urban isolation. Literature studies helped determine the initial list of causes (Fig. 3), and respondents were also allowed to add their reasons if not found in the list. The list included 'nuclear families', a 'lack of work-life balance', 'trust issues' with fellow community members, 'lack of social interaction', 'non-native/migrant unacceptance', and 'greater social media involvement' when time spent on socializing is greater on social media than time spent face-to-face.

"Lack of Social Interaction" seemed to be the most prominent response from Mumbai and Kolkata (Tables 4–6). In Kochi, however, "Non-native/Migrant unacceptance" had the highest answers. Almost all stated causes had at least 40% of responses. All three cities' responses were similar. Gender, age, and Household related significance are given from Tables 10-18 (in appendix).

Factor analysis of the above question resulted in two factors for all three cities (Fig. 4). The factor loadings for both components were the same for the three cities with variations in factor loading values. Hence, the study conducted a cumulative factor analysis with 1260 samples (see Table 7).

The first factor is named "Sociability," and items loaded under it are "Lack of Social Interaction," "Lack of Work-Life balance," "Nuclear Family," and "Greater Social Media involvement/Influence of Social Media." The second factor is named "Acceptability." Items loaded under it include "Non-native/Migrant unacceptance" and "Trust Issues."



Fig. 3. Causes of urban isolation: Frequency distribution for Mumbai, Kolkata, and Kochi.

Table 4

Causes of Urban Isolation in Descending order (Mumbai).

City	Causes (In Descending Order)	Frequency (Max 420)	Percentage	
Mumbai	1. Lack of Social Interaction	395	94.0 %	
	2. Non-native/Migrant unacceptance	385	91.6 %	
	3. Lack of Work/Life Balance	376	89.5 %	
	4. Nuclear Family	268	63.8 %	
	5. Greater Social Media involvement	223	53.0 %	
	6. Trust Issues	167	39.7 %	

Table 5

Causes of Urban Isolation in Descending order (Kolkata).

City	Causes (In Descending Order)	Frequency (Max 420)	Percentage
Kolkata	1. Lack of Social Interaction	389	92.6 %
	2. Lack of Work/Life Balance	322	76.6 %
	3. Nuclear Family	302	71.9 %
	Non-native/Migrant unacceptance	289	68.8 %
	5. Greater Social Media involvement	285	67.8 %
	6. Trust Issues	265	63.0 %

Causes of Urban Isolation in Descending order (Kochi).

City	Causes (In Descending Order)	Frequency (Max 420)	Percentage
Kochi	1. Non-native/Migrant unacceptance	353	84.0 %
	2. Lack of Social Interaction	321	76.4 %
	3. Nuclear Family	313	74.5 %
	4. Lack of Work/Life Balance	277	65.9 %
	5. Trust Issues	199	47.3 %
	6. Greater Social Media involvement	186	44.2 %



Fig. 4. Scree plot of Factor Analysis.

Table 7

Causes of urban isolation: Factor deduction.

Causes	Factor Components	
	Sociability	Acceptability
Lack of Social Interaction	0.88	
Lack of Work-Life balance	0.85	
Nuclear Family	0.76	
Greater Social Media involvement/Influence of Social Media	0.69	
Non-native/Migrant unacceptance		0.75
Trust issues		0.63
Total Variance explained (%)	32.3	19.2

The study considered all factor loadings of 0.4. Principal Component Analysis was the extraction method used—rotation method: Varimax (Kaiser normalization) with Bartlett's Test of Sphericity conducted (see Table 8).

4.3. Suggestions and open answers

Out of the 1260 responses collected, more than 150 respondents gave constructive suggestions often enunciated in long sentences. Answers that conveyed similar meanings have been clubbed together (see Table 9). Fig. 5 shows the urban-suburban classification for Mumbai, Kolkata, and Kochi, respectively. The study does not cover rural areas.

The most common suggestion was to provide 'easily accessible public spaces' which is true especially, well-lit spaces in night time which assure a sense of safety and security. Ample open spaces and a balanced 'built to open area' are necessary to achieve this.

"Inclusive public events for all, small events in neighborhood-level, etc., will attract people. Social does not mean verbal only; it can be anything that soothes your mind. Even parks are the inevitable example in an urban area, helping to relax from the hectic life. The question is how it is connected, accessible, and comfortable for all. People are different with their filters and ideas. So, providing different opportunities to avoid urban isolation is the best. Like green spaces, large-scale events, neighborhood-level events, etc., helps to activate themselves. Some needed private exploration in public and vice-versa. Like different seating typologies in the restaurant. It can be single, couple, or group." (Male respondent, Kolkata urban, 46–55 age group)

"Well-lit and Connected common neighborhood open spaces" (Female respondent, Mumbai suburban, 36-45 age group)

KI

MO and Bartiett's test.								
Tests Kaiser-Meyer-Olkin Measure of Sampling Adequacy		Value	Remarks					
		0.744	No sample size issue (needs to be >0.5)					
Bartlett's Test of Sphericity	Approx. Chi-Square	2007.863						
	df	15						

0.000

Table 9

Open answers frequency count.

Sig

Suggestions	Respondent count
Multi-functional public spaces/More open spaces	96
Pedestrian-friendly streets	59
Mixed-Housing	37
Adapt, improvise, overcome	13



Fig. 5. Urban(yellow) and suburban(green) regions of Mumbai, Kolkata, and Kochi city. (For interpretation of the references to colour in this figure legend, the reader is referred to the Web version of this article.)

Public spaces need to be inclusive for all, regardless of age, gender, caste, or race, creating less tension between strangers, especially for new city dwellers.

"Amp up creating public space with prescribed spaces (parks for everyone, play areas for children, outdoor exercise equipment. For men, women, maybe? Transgender washrooms so they will not be sidelined? A Stage for activities, an arena for seating an audience; that way, everybody gets a bite of the social space and activities they deserve as members of the society. More landscaping and maintenance, so people of all ages have access to those spaces." (Female respondent, Kochi urban, 26–35 age group)

"Pedestrian-friendly streets so that more people can come in close contact with one another." (Male respondent, Mumbai urban, 36-45 age group)

"Need more open spaces for gathering, especially which is comfortable for ladies." (Female respondent, Mumbai urban, 26-35 agegroup)

Some respondents have suggested that urban isolation was unpredicted. It is an unsolicited entity that needs to be dealt with seriously.

"My thoughts on this issue is that the main cause of urban isolation is the gradual unrealized change in social constructs and being ignorant about the same. Today the issue has become more complex." (Male respondent, Kochi suburban, 55+ age group)

A change in the conservative mind-set of the people is another social aspect needs addressing according to some respondents. In some cases, those who voluntarily want to socialize cannot do so, because they are ignorant as to how to socialize. People get comfortable with digital modes of communication where anonymity prevails. On the contrary real-life conversation require transparency and communication skills.

Significant

"I have always wanted people to have a broader mindset and encourage themselves and their children to be more social, give them the freedom to go out, talk to people, and play in groups. Safety reasons for girls, especially children, obstruct this vision. Hope people in neighborhoods take initiatives to ensure safety and maintain coordination with each other so that everybody keeps an eye for one another." (Male respondent, Kolkata urban, 26–35 age group)

"The city should have an association. Everyone should be a member of that, and nobody should be alone. Parents should leave their children to play and interact with others instead of saying to study and not go out of the house and play with other children claiming that his behavior is terrible, which is a major of the kids' life or they will ruin their life by sitting in front of a pc or mobile phone and front of a book. In my opinion, this is the primary thing a city should implement because, in my whole life, I have been experiencing difficulty interacting with others. No neighborhood should be starved; everyone should have a helping mentality. Everyone should live together happily peacefully." (Male respondent, Kolkata urban, 26–35 age group).

Some respondents believe urban isolation is a result of excess competitiveness. People have become highly career-oriented. Socializing which takes time, hinders their career growth and is thought to be a distraction.

"My home is on the outskirts of Kolkata. I have completed my graduation and post-graduation side of the city. While traveling to my college, I have experienced that the connectivity provided by a city is beneficial for the people. The city people can access transportation, go to malls and supermarkets for buying stuff, and cinema for leisure. However, the social gathering for a person only takes place with parents, spouse, or girlfriend/boyfriend. The competitive lifestyle of a person also makes him isolated in a city. In the meantime, the old friends are forgotten. In a nuclear family structure, a person can only take care of their parents but does not know about their uncle-aunty. The person lives in a box called "Apartment / Flat" in a city, and it does not provide them a chance to know about the neighbors. In the name of exploring the world, a person can join social media, which makes him devoid of having any real emotion for others. Social media is always helpful, and removing social media addiction entirely from life may be harmful. To carve urban isolation, a person can join with his friends and colleagues to explore the countryside, travel places, and do tracking. A person can manage his time to join and indulge in some cultural festivals, community work, and NGOs." (Male respondent, Kolkata suburban, 26–35 age-group)

Ineffective space utilization is yet another issue that cities need to address. Urban planners need to identify urban voids and put them to use for the people.

"Conversion of urban voids into public spaces/ parks, integration of pedestrian pathways into the city plan, plant more trees/expand the green belt." (Female respondent, Kochi urban, 16–25 age group)

Not all city dwellers feel urban isolation is something that needs adhering to. For some, it is a boon, especially for introverts. They see cities as an opportunity to enjoy their loneliness.

"If isolation is indeed the root of depression, then probably seeking out new experiences will help. Otherwise, many introverts find isolation to be blissful." (Male respondent, Mumbai suburban, 26–35 age-group)

"Well, it is more of a subjective choice; some people prefer to be isolated, and I am one of them, but still, everyone has hobbies. If kind of events related to their hobbies occurs in a city or neighborhood, maybe one would love to go and might find fun and regularly go to other social activities." (Male respondent, Kochi urban, 26–35 age-group)

For some respondents, urban isolation is something that one needs to accept. It would always be part of city life; hence, one must adapt to today's cities' growing changes.

"One should read books and be able to spend time for themselves so that he can understand himself better and that in turn may help one to manage most of the daily life routines effectively." (Male respondent, Kochi suburban, 46–55 age-group)

"I think self-manifestation is important. I have stayed in a place like Pakyong, where I used to see beautiful sunrise and sunset every day, but being a city girl frustrated me after a point in time. It may sound weird, but the place has nothing to do with mental peace. A person has to find peace within." (Female respondent, Mumbai urban, 46–55 age-group)

5. Discussion

Urban isolation indeed seems to exist in all three cities in some form or the other. Significant differences were present amongst people of different age groups, gender, and even in the household size category for all three cities. Lack of social interaction seems to be the most prominent issue in common. It was especially prevalent among the low-income class of people due to forced social exclusion. People from this section of society find it difficult to access public transit systems and commercial establishments. It may very well be due to the absence of mixed housing among city residents (H. Wang, Kwan, & Hu, 2020). A diverse housing system helps the low-income sections of society and is also very favorable for aged people. They get improved social support, and feelings of loneliness are drastically reduced (Keene & Ruel, 2013). Another major issue that is particular for cities is the inflow of migrants. Residents of a city find it difficult to trust newcomers. Affordable housing helps promote social integration among migrants. It helps develop a sense of belongingness to a place, resulting in more participation of migrants in the local activities of a city (Zheng et al., 2020).

Suggestions from city residents focus on the need for multi-functional public spaces to cater to every age group's needs. The need for neighborhood interaction gets highlighted here. It promotes self-organization, reduces redundancy, increases efficiency, and supports collaborative capacity (Boon & Farnsworth, 2011; Sharifi, 2019). Cities need to provide attractive neighborhood parks, public gardens, restaurants that provide open-air dining, and pedestrian-friendly streets (Ambrose et al., 2020; Chiesura, 2004; Moulay et al., 2017).

Being an active member of a social group also reduces social isolation as social identification facilitates and keeps one engaged in activities (Cruwys et al., 2014). Shacham et al. (2012) conducted a study on how recovery rates of HIV patients living in urban areas can be accelerated. The author suggested urban farming as an engaging activity that helps bring people together, not just for economic purposes but also for social causes. The study reported how participants reported better overall health conditions and fewer disease symptoms. The author states how people undergoing distress can engage themselves in community-based activities that are beneficial for all and, at the same time, meaningful.

Age-related differences in experiencing social isolation were much higher for people aged 25–44 than those aged 45 and above in all three cities, which is in line with the findings of Nyqvist, who found that young adults experienced greater loneliness than older adults (Nyqvist et al., 2016). Social isolation is associated with life satisfaction. Previous findings point out that general life satisfaction is inversely proportional to the quality of a person's social connections (Hawton et al., 2011; Mellor et al., 2008; Xia & Li, 2018).

A small section of respondents even highlighted the fact that urban isolation need not necessarily be an issue. Not everyone needs to be socially active. Some prefer isolation, especially introverts. To them, urban isolation is a boon to rejoice. Eriyanti (2020) shares her experience of living alone in a city and claims that city activities are interdependent. Realizing this fact protects one from the ill effects of social isolation even if the person is physically staying alone (Eriyanti, 2020). Some people desire a peaceful space based on personal preferences (Park-Cardoso & Silva, 2021). It might not be possible for them to achieve this if they are socially active. Hence, they prefer to be isolated (Park-Cardoso & Silva, 2021).

A Harvard study that started in 1938, with 724 boys as test subjects, analyzed the relationship between social connections and health



Fig. 6. The "ideal house" according to Robinson (1933).

(Vaillant, 2008). The research which is still running has spanned more than 80 years. Most programs do not last this long due to the program's length and many other research constraints. The study called 'Harvard Study of Adult Development' runs to date with those remaining initial participants presently in their 90's. This study's primary outcome shows social connections as a vital part of one's health and happiness. Other conclusions also showed that those who maintained *warm relationships* lived longer and were relatively happier in their endeavors than their counterparts. The study has now started second-generation research on the kids of the initial participants and plans to continue the research on similar objectives of social connections (School, 2020).

Humans are social species. Wilson et al. (2009) conducted a study in neighborhood communities where participants' cooperative tendencies were directly related to neighborhood environment quality. Using behavioral economic 'games,' cooperative offers were low when neighborhood resources were inadequate (resources included visual cues, odors, sound). It shows the importance of active and neighborhood-friendly spaces to interact positively and share intimate feelings. The decline in local public investment across several cities globally is another factor leading to poor neighborhood environment quality (Antoniucci & Marella, 2018).

Factor analysis on the reasons for Urban Isolation resulted in two prominent factors. The first was named "Sociability," which includes all loadings that deal with the community's social involvement. The second was named "Acceptability," which contains loadings that deal with the society's levels of accepting migrants or other residents of a city. These two factors seem to be significant in eradicating urban isolation in the three cities studied. People living in a city need to be socially active participants, including people of different ethnicities, castes, and races. Local authorities, policymakers, and government officials will need to implement policies that promote inclusivity and better urban accessibility (Gaglione et al., 2019; Guida & Carpentieri, 2021; Pan et al., 2018). But to achieve genuine 'Sociability,' the public needs to be involved in the policy-making process, which will only then reflect in the policies to be implemented (Gao et al., 2020; Levenda et al., 2020).

As suggested by Robinson (1933), even though almost a century old, the' ideal house' still highlights the relevance of people's need to be socially active where gender, race, religion, and economic status should not prevent people from interacting with one another (Fig. 6).

6. Conclusion

Urban isolation conditions of three cities, namely Mumbai, Kolkata, and Kochi, have been studied in this paper. The results of the study may not be the same throughout the world. Every city has its unique characteristics, and hence, if residents in a city experience urban isolation, they may need to be explicitly addressed. City authorities will need to focus on issues that pertain to their jurisdictions. For example, in Kochi, urban dwellers had major problems with 'migrant unacceptance' (84% survey respondents). Still, it was not so in the case of Kolkata (92.6% of respondents selected social isolation as the significant factor). However, a substantial proportion of the respondents did experience urban isolation of some form. The case was similar in Mumbai, with 94% of respondents selecting social isolation as the most prominent factor. Factor analysis for causes for urban isolation resulted in two factors, namely, "Sociability" and "Acceptability". Suggestions to address social isolation resulted in 46.8% of respondents insisting on more "Multi-functional public spaces/ open spaces" followed by 28.7% of respondents wanting "Pedestrian-friendly streets", 18% for "Mixed housing", and 6.3% even suggesting that we need to "adapt" to the changing times. The situation may be the same in several cities in India and even globally, given how Globalization has affected the world. The most constructive approach would be to engage the public in planning. Negative impacts of forced isolation could be due to poor planning of events. Experience from previous outbreaks of unprecedented events is precious and should be used to design a better program to address similar issues.

Declaration of competing interest

The authors whose names are listed immediately below certify that they have NO affiliations with or involvement in any organization or entity with any financial interest (such as honoraria; educational grants; participation in speakers' bureaus; membership, employment, consultancies, stock ownership, or other equity interest; and expert testimony or patent-licensing arrangements), or nonfinancial interest (such as personal or professional relationships, affiliations, knowledge or beliefs) in the subject matter or materials discussed in this manuscript.

Appendix

Table 10

Causes of Urban Isolation – Gender-related differences for Mumbai (A	4NO	VA	4)
--	-----	----	----

Level of Isolation	Sum of Squares (S.S.)	Degrees of Freedom (df)	Mean Square (M.S.)	F-value	Significance
Lack of Social Interaction	n				
Between groups	0.8112	1	0.8112	14.938	0.000129
Within groups	22.7007	418	0.0543		
Total	23.5119	419	_		
Non-native/Migrant una	cceptance				
Between groups	1.0534	1	1.0534	14.19076	0.000189
Within groups	31.0299	418	0.0742		
Total	32.0833	419	-		

Causes of Urban Isolation - Gender-related differences for Kolkata (ANOVA)

Level of Isolation	Sum of Squares (S.S.)	Degrees of Freedom (df)	Mean Square (M.S.)	F-value	Significance
Lack of Social Intera	ction				
Between groups	0.3487	1	0.3487	5.13963	0.023896
Within groups	28.3632	418	0.0679		
Total	28.7119	419	_		
Lack of Work-Life Ba	lance				
Between groups	3.2304	1	3.2304	18.77933	0.000018
Within groups	71.903	418	0.172		
Total	75.1333	419	_		
Non-native/Migrant	unacceptance				
Between groups	2.0876	1	2.0876	9.91022	0.001761
Within groups	88.0529	418	0.2107		
Total	90.1405	419	-		

Table 12

Causes of Urban Isolation - Gender-related differences for Kochi (ANOVA)

Level of Isolation	Sum of Squares (S.S.)	Degrees of Freedom (df)	Mean Square (M.S.)	F-value	Significance
Nuclear Family					
Between groups	7.395	1	7.395	42.72723	0.00001
Within groups	72.3455	418	0.1731		
Total	79.7405	419	-		
Non-native/Migrant una	acceptance				
Between groups	2.0306	1	2.0306	15.63689	0.00009
Within groups	54.2813	418	0.1299		
Total	56.3119	419	-		

Table 13

Causes of Urban Isolation - Age-related differences for Mumbai (ANOVA)

Level of Isolation	Sum of Squares (S.S.)	Degrees of Freedom (df)	Mean Square (M.S.)	F-value	Significance
Lack of Social Intera	ction				
Between groups	1.5319	4	0.383	7.23073	0.000012
Within groups	21.98	415	0.053		
Total	23.5119	419	_		
Non-native/Migrant	unacceptance				
Between groups	2.6603	4	0.6651	9.3808	0.00001
Within groups	29.423	415	0.0709		
Total	32.0833	419	_		
Greater Social Media	involvement				
Between groups	3.4097	4	0.8524	3.49599	0.008008
Within groups	101.188	415	0.2438		
Total	104.5976	419	_		

Table 14

Causes of Urban Isolation - Age-related differences for Kolkata (ANOVA)

Level of Isolation	Sum of Squares (S.S.)	Degrees of Freedom (df)	Mean Square (M.S.)	F-value	Significance
Nuclear Family					
Between groups	6.0687	4	1.5172	7.99238	0.00001
Within groups	78.7789	415	0.1898		
Total	84.8476	419	_		
Lack of Social Intera	ction				
Between groups	1.6606	4	0.4152	6.369	0.000056
Within groups	27.0513	415	0.0652		
Total	28.7119	419	_		
Lack of Work-Life Ba	lance				
Between groups	2.99	4	0.7475	4.29989	0.002028
Within groups	72.1434	415	0.1738		
Total	75.1333	419	_		
Trust Issues					
Between groups	6.2939	4	1.5735	7.56102	0.00001
Within groups	86.3632	415	0.2081		
Total	92.6571	419	_		

Causes of Urban Isolation - Age-related differences for Kochi (ANOVA)

Level of Isolation	Sum of Squares (S.S.)	Degrees of Freedom (df)	Mean Square (M.S.)	F-value	Significance
Nuclear Family					
Between groups	10.3746	4	2.5937	15.62829	0.00001
Within groups	68.873	415	0.166		
Total	79.2479	419	_		
Lack of Social Intera	ction				
Between groups	3.6739	4	0.9185	5.29463	0.000362
Within groups	71.9904	415	0.1735		
Total	75.6643	419	_		
Lack of Work-Life Ba	lance				
Between groups	9.9419	4	2.4855	12.22552	0.00001
Within groups	84.37	415	0.2033		
Total	94.3119	419	_		
Non-native/Migrant	unacceptance				
Between groups	4.7213	4	1.1803	9.49475	0.00001
Within groups	51.5906	415	0.1243		
Total	56.3119	419	_		
Greater Social Media	involvement				
Between groups	5.1051	4	1.2763	5.37592	0.000314
Within groups	98.5235	415	0.2374		
Total	103.6286	419	_		

Table 16

Causes of Urban Isolation - Household size-related differences for Mumbai (ANOVA)

Level of Isolation	Sum of Squares (S.S.)	Degrees of Freedom (df)	Mean Square (M.S.)	F-value	Significance
Nuclear Family					
Between groups	2.6914	4	0.6729	2.96119	0.019669
Within groups	94.299	415	0.2272		
Total	96.9905	419	_		
Non-native/Migrant una	cceptance				
Between groups	1.5765	4	0.3941	5.36152	0.000322
Within groups	30.5068	415	0.0735		
Total	32.0833	419	-		
Total	32.0833	419	-		

Table 17

Causes of Urban Isolation - Household size-related differences for Kolkata (ANOVA)

Level of Isolation	Sum of Squares (S.S.)	Degrees of Freedom (df)	Mean Square (M.S.)	F-value	Significance
Lack of Social Interaction	1				
Between groups	1.032	4	0.258	3.86831	0.004251
Within groups	27.6799	415	0.0667		
Total	28.7119	419	_		
Lack of Work-Life Balanc	e				
Between groups	1.7313	4	0.4328	2.44709	0.045835
Within groups	73.402	415	0.1769		
Total	75.1333	419	_		
Non-native/Migrant unac	cceptance				
Between groups	3.1811	4	0.7953	3.79537	0.004814
Within groups	86.9593	415	0.2095		
Total	90.1405	419	-		

Table 18

Causes of Urban Isolation - Household size-related differences for Kochi (ANOVA)

Level of Isolation	Sum of Squares (S.S.)	Degrees of Freedom (df)	Mean Square (M.S.)	F-value	Significance
Nuclear Family					
Between groups	3.1079	4	0.777	4.20762	0.002376
Within groups	76.6326	415	0.1847		
Total	79.7405	419	_		
Lack of Social Intera	ction				
Between groups	2.9674	4	0.7418	4.23489	0.00267
Within groups	72.6969	415	0.1752		
Total	75.6643	419	-		
Lack of Work-Life Ba	lance				

(continued on next page)

Table 18 (continued)

Level of Isolation	Sum of Squares (S.S.)	Degrees of Freedom (df)	Mean Square (M.S.)	F-value	Significance
Between groups	2.1508	4	0.5377	2.42131	0.047793
Within groups	92.1611	415	0.2221		
Total	94.3119	419	-		

References

- Ambrose, G., Das, K., Fan, Y., & Ramaswami, A. (2020). Is gardening associated with greater happiness of urban residents? A multi-activity, dynamic assessment in the twin-cities region, USA. Landscape and Urban Planning, 198, 103776. https://doi.org/10.1016/j.landurbplan.2020.103776
- Antoniucci, V., & Marella, G. (2018). Is social polarization related to urban density? Evidence from the Italian housing market. Landscape and Urban Planning, 177, 340–349. https://doi.org/10.1016/j.landurbplan.2017.08.012
- Bain, R., Riesman, D., Denney, R., & Glazer, N. (1951). The lonely crowd: A study of the changing American character. American Sociological Review, 16(2). https:// doi.org/10.2307/2087713

Benediktsson, M. O. (2018). Where inequality takes place: A programmatic argument for urban sociology. City & Community, 17(2), 394–417. https://doi.org/10.1111/ cico.12302

Bhatti, A. B., & Haq, A. ul (2017). The pathophysiology of perceived social isolation: Effects on health and mortality. Cureus, 9(1). https://doi.org/10.7759/cureus.994
Boden-Albala, B., Litwak, E., Elkind, M. S. V., Rundek, T., & Sacco, R. L. (2005). Social isolation and outcomes post stroke. Neurology, 64(11). https://doi.org/10.1212/ 01.WNL0000163510.79351.AF

Boon, B., & Farnsworth, J. (2011). Social exclusion and poverty: Translating social capital into accessible resources. Social Policy and Administration, 45(5), 507–524. https://doi.org/10.1111/j.1467-9515.2011.00792.x

Brooks, S. K., Webster, R. K., Smith, L. E., Woodland, L., Wessely, S., Greenberg, N., & Rubin, G. J. (2020). The psychological impact of quarantine and how to reduce it: Rapid review of the evidence. *The Lancet*, 395(10227), 912–920. https://doi.org/10.1016/S0140-6736(20)30460-8

- Cacioppo, J. T., & Cacioppo, S. (2014). Social relationships and health: The toxic effects of perceived social isolation. Social and Personality Psychology Compass, 8(2), 58–72. https://doi.org/10.1111/spc3.12087
- Chang, G. H., & Brada, J. C. (2006). The paradox of China's growing under-urbanization. *Economic Systems*, 30(1), 24–40. https://doi.org/10.1016/j.ecosys.2005.07.002
- Chen, M., Zhang, H., Liu, W., & Zhang, W. (2014). The global pattern of urbanization and economic growth: Evidence from the last three decades. *PLoS One*, *9*(8), Article e103799. https://doi.org/10.1371/journal.pone.0103799

Chiesura, A. (2004). The role of urban parks for the sustainable city. Landscape and Urban Planning, 68(1), 129–138. https://doi.org/10.1016/ i.landurbplan.2003.08.003

Child, S. T., & Lawton, L. (2019). Loneliness and social isolation among young and late middle-age adults: Associations with personal networks and social participation. Aging & Mental Health, 23(2), 196–204. https://doi.org/10.1080/13607863.2017.1399345

Clarfield, A. M. (2018). Healthy life expectancy is expanding. Journal of the American Geriatrics Society, 66(Issue 1). https://doi.org/10.1111/jgs.15165

- Cornwell, E. Y., & Waite, L. J. (2009). Social disconnectedness, perceived isolation, and health among older adults. Journal of Health and Social Behavior, 50(1), 31–48. https://doi.org/10.1177/002214650905000103
- Cruwys, T., Dingle, G. A., Hornsey, M. J., Jetten, J., Oei, T. P. S., & Walter, Z. C. (2014). Social isolation schema responds to positive social experiences: Longitudinal evidence from vulnerable populations. British Journal of Clinical Psychology, 53(3), 265–280. https://doi.org/10.1111/bjc.12042
- Dittmar, H., Bond, R., Hurst, M., & Kasser, T. (2014). The relationship between materialism and personal well-being: A meta-analysis. Journal of Personality and Social Psychology, 107(5), 879–924. https://doi.org/10.1037/a0037409
- Eriyanti, I. (2020). Alone but not lonely. In P. Stanley (Ed.), Critical autoethnography and intercultural learning: Emerging voices (pp. 42–50). Routledge. https://doi.org/ 10.4324/9780429280016-4.

Fischer, C. S. (1972). Urbanism as a way of life": A review and an agenda. Sociological Methods & Research, 1(2), 187–242. https://doi.org/10.1177/ 004912417200100203

- Fischer, C. S. (1973). On urban alienations and anomie: Powerlessness and social isolation. American Sociological Review, 38(3), 311-326. https://doi.org/10.2307/2094355
- Frantál, B., Klapka, P., & Nováková, E. (2020). When home becomes a cage: Daily activities, space-time constraints, isolation and the loneliness of older adults in urban environments. *Moravian Geographical Reports*, 28(4), 322–337. https://doi.org/10.2478/mgr-2020-0024

Gaglione, F., Gargiulo, C., & Zucaro, F. (2019). ELDERS' quality OF life a method to optimize pedestrian accessibility to urban services. Tema-Journal of Land Use Mobility and Environment, 12(3).

Gao, Z., Wang, S., & Gu, J. (2020). Public participation in smart-city governance: A qualitative content analysis of public comments in urban China. Sustainability (Switzerland), 12(20). https://doi.org/10.3390/su12208605

Garewa, R. (2006). SOCIAL polarization and role OF planning – the developed and developing world. In Z. Merey Enlil, & P. Vaggione (Eds.), Cities between integration and disintegration-opportunities and challenges. ISOCARP. https://isocarp.org/product/2006-42nd-isocarp-congress-istanbultur/.

- Grundström, K. (2018). Grindsamhälle: The rise of urban gating and gated housing in Sweden. Housing Studies, 33(1), 18-39. https://doi.org/10.1080/02673037.2017.1342774
- Guida, C., & Carpentieri, G. (2021). Quality of life in the urban environment and primary health services for the elderly during the Covid-19 pandemic: An application to the city of Milan (Italy). *Cities, 110.* https://doi.org/10.1016/j.cities.2020.103038

Hammond, C. (2021). Who feels lonely? The results of the world's largest loneliness study. BBC. https://www.bbc.co.uk/programmes/articles/

2yzhfv4DvqVp5nZyxBD8G23/who-feels-lonely-the-results-of-the-world-s-largest-loneliness-study.

Harasemiw, O., Newall, N., Mackenzie, C. S., Shooshtari, S., & Menec, V. (2019). Is the association between social network types, depressive symptoms and life satisfaction mediated by the perceived availability of social support? A cross-sectional analysis using the Canadian longitudinal study on aging. Aging & Mental Health, 23(10), 1413–1422. https://doi.org/10.1080/13607863.2018.1495176

- Hawton, A., Green, C., Dickens, A. P., Richards, S. H., Taylor, R. S., Edwards, R., Greaves, C. J., & Campbell, J. L. (2011). The impact of social isolation on the health status and health-related quality of life of older people. Quality of Life Research, 20(1), 57–67. https://doi.org/10.1007/s11136-010-9717-2
- van Hoof, J., Kazak, J. K., Perek-Białas, J. M., & Peek, S. T. M. (2018). The challenges of urban ageing: Making cities age-friendly in Europe. International Journal of Environmental Research and Public Health, 15(11). https://doi.org/10.3390/ijerph15112473
- Hughes, M. E., Waite, L. J., Hawkley, L. C., & Cacioppo, J. T. (2004). A short scale for measuring loneliness in large surveys: Results from two population-based studies. *Research on Aging*, 26(6), 655–672. https://doi.org/10.1177/0164027504268574

Jamieson, L., & Simpson, R. (2013). Living alone: Globalization, Identity, and belonging (1st ed.). Palgrave Macmillan. https://doi.org/10.1057/9781137318527

Jaspers, E. D. T., & Pieters, R. G. M. (2016). Materialism across the life span: An age-period-cohort analysis. Journal of Personality and Social Psychology, 111(3),

- 451–473. https://doi.org/10.1037/pspp0000092
- Keene, D. E., & Ruel, E. (2013). Everyone called me grandma": Public housing demolition and relocation among older adults in Atlanta. Cities, 35, 359–364. https://doi.org/10.1016/j.cities.2012.10.011

- Langeweg, F., Hilderink, H., & Maas, R. (2000). Urbanisation, industrialisation and sustainable development. https://www.pbl.nl/sites/default/files/downloads/ 402001015.pdf.
- Levenda, A. M., Keough, N., Rock, M., & Miller, B. (2020). Rethinking public participation in the smart city. Canadian Geographer, 64(3). https://doi.org/10.1111/ cag.12601
- Marx, K. (2000). Economic and philosophical manuscripts. Karl Marx: Selected Writings. September 1972.
- Mellor, D., Stokes, M., Firth, L., Hayashi, Y., & Cummins, R. (2008). Need for belonging, relationship satisfaction, loneliness, and life satisfaction. Personality and Individual Differences, 45(3), 213–218. https://doi.org/10.1016/j.paid.2008.03.020
- Moulay, A., Ujang, N., & Said, I. (2017). Legibility of neighborhood parks as a predicator for enhanced social interaction towards social sustainability. Cities, 61, 58–64. https://doi.org/10.1016/j.cities.2016.11.007
- Nyqvist, F., Victor, C. R., Forsman, A. K., & Cattan, M. (2016). The association between social capital and loneliness in different age groups: A population-based study in Western Finland. *BMC Public Health*, 16(1), 542. https://doi.org/10.1186/s12889-016-3248-x
- Organisation, W. H. (2020). Decade of healthy ageing 2020 2030. In World health organisation (Issue 6) https://www.who.int/docs/default-source/decade-of-healthy-ageing/full-decade-proposal/decade-proposal
- Pan, X., Chahal, J. K., & Marie Ward, R. (2018). Quality of urban life among older adults in the world major metropolises: A cross-cultural comparative study. Ageing and Society, 38(1). https://doi.org/10.1017/S0144686X16000957
- Papa, E., Carpentieri, G., & Angiello, G. (2018). A TOD classification of metro stations: An application in Naples. In Green energy and technology, PartF12. https:// doi.org/10.1007/978-3-319-77682-8 17
- Park-Cardoso, J., & Silva, A. P. S. da (2021). Preference to Eat alone: Autistic adults' desire for freedom of choice for a peaceful space. Autism in Adulthood. https://doi.org/10.1089/aut.2020.0066
- Perrin, A., & Kumar, M. (2020). About three-in-ten U.S. adults say they are "almost constantly" online. Pew Research Center FacTank https://www.pewresearch.org/fact-tank/2019/07/25/americans-going-online-almost-constantly/.
- Plouffe, L., & Kalache, A. (2010). Towards global Age-Friendly cities: Determining urban features that promote active aging. Journal of Urban Health, 87(5). https://doi.org/10.1007/s11524-010-9466-0
- Primack, B. A., Karim, S. A., Shensa, A., Bowman, N., Knight, J., & Sidani, J. E. (2019). Positive and negative experiences on social media and perceived social isolation. *American Journal of Health Promotion*, 33(6), 859–868. https://doi.org/10.1177/0890117118824196
- Robinson, H. (1933). The Ideal home. Flame tree.
- Roitman, S., & Recio, R. B. (2020). Understanding Indonesia's gated communities and their relationship with inequality. Housing Studies, 35(5), 795-819. https://doi.org/10.1080/02673037.2019.1636002
- Ronald, R., Druta, O., & Godzik, M. (2018). Japan's urban singles: Negotiating alternatives to family households and standard housing pathways. Urban Geography, 39(7), 1018–1040. https://doi.org/10.1080/02723638.2018.1433924
- Russell, D., Peplau, L. A., & Cutrona, C. E. (1980). The revised UCLA Loneliness Scale: Concurrent and discriminant validity evidence. Journal of Personality and Social Psychology, 39(3), 472–480. https://doi.org/10.1037/0022-3514.39.3.472
- School, H. M. (2020). Second generation study. Harvard Medical School. https://www.adultdevelopmentstudy.org/2nd-generation-study.
- Shacham, E., Donovan, M. F., Connolly, S., Mayrose, A., Scheuermann, M., & Overton, E. T. (2012). Urban farming: A non-traditional intervention for HIV-related distress. AIDS and Behavior, 16(5), 1238–1242. https://doi.org/10.1007/s10461-011-0061-5
- Sharifi, A. (2019). Urban form resilience: A meso-scale analysis. Cities, 93, 238-252. https://doi.org/10.1016/j.cities.2019.05.010
- Smith, B. J., & Lim, M. H. (2020). How the COVID-19 pandemic is focusing attention on loneliness and social isolation. Public Health Research and Practice, 30(2), 3022008. https://doi.org/10.17061/phrp3022008
- Stein, M. R. (2015). The eclipse of community: An interpretation of American studies. In The eclipse of community: An interpretation of American studies. Harper Torchbook. https://doi.org/10.2307/2710337.
- Steptoe, A., Shankar, A., Demakakos, P., & Wardle, J. (2013). Social isolation, loneliness, and all-cause mortality in older men and women. Proceedings of the National Academy of Sciences of the United States of America, 110(15), 5797–5801. https://doi.org/10.1073/pnas.1219686110
- The World Bank. (2020). World development indicators. In World development indicators. The World Bank. https://datacatalog.worldbank.org/dataset/worlddevelopment-indicators.
- Turok, I., & McGranahan, G. (2013). Urbanization and economic growth: The arguments and evidence for Africa and Asia. Environment and Urbanization, 25(Issue 2), 465–482. https://doi.org/10.1177/0956247813490908
- Umberson, D., & Karas Montez, J. (2010). Social relationships and health: A flashpoint for health policy. Journal of Health and Social Behavior, 51(S), 54–66. https:// doi.org/10.1177/0022146510383501
- Unfpa. (2007). State of world population 2007: Unleashing the potential of urban growth. In Director.
- Usher, K., Bhullar, N., & Jackson, D. (2020). Life in the pandemic: Social isolation and mental health. Journal of Clinical Nursing, 29, 2756–2757. https://doi.org/ 10.1111/jocn.15290
- Vaillant, G. E. (2008). Aging well. Little Brown spark.
- Wang, S., Jia, M., Zhou, Y., & Fan, F. (2020). Impacts of changing urban form on ecological efficiency in China: A comparison between urban agglomerations and administrative areas. Journal of Environmental Planning and Management, 63(10). https://doi.org/10.1080/09640568.2019.1689932
- Wang, H., Kwan, M. P., & Hu, M. (2020). Social exclusion and accessibility among low- and non-low-income groups: A case study of nanjing, China. Cities, 101(102684). https://doi.org/10.1016/j.cities.2020.102684
- Wang, Q., Phillips, N. E., Small, M. L., & Sampson, R. J. (2018). Urban mobility and neighborhood isolation in America's 50 largest cities. Proceedings of the National Academy of Sciences of the United States of America, 115(30), 7735–7740. https://doi.org/10.1073/pnas.1802537115
- Wilson, D. S., O'Brien, D. T., & Sesma, A. (2009). Human prosociality from an evolutionary perspective: Variation and correlations at a city-wide scale. Evolution and Human Behavior, 30(3), 190–200. https://doi.org/10.1016/j.evolhumbehav.2008.12.002
- Xia, N., & Li, H. (2018). Loneliness, social isolation, and cardiovascular health. Antioxidants and Redox Signaling, 28(9), 837–851. https://doi.org/10.1089/ ars.2017.7312
- Zavaleta, D., Samuel, K., & Mills, C. T. (2017). Measures of social isolation. Social Indicators Research, 131(1), 367–391. https://doi.org/10.1007/s11205-016-1252-2 Zheng, S., Song, Z., & Sun, W. (2020). Do affordable housing programs facilitate migrants' social integration in Chinese cities? Cities, 96, 102449. https://doi.org/ 10.1016/i.cities.2019.102449